
HW 2_SOLUTION 
 
 
Problem 2_3 

 
 
1. Draw the graph by “Path”; define the width of the path is 4um (Ws=4um) ; the maximum length 
of a segment is 86um (Ls=86um). Define width between horizontal line is Wg=13.87um.  
Notice that the maximum length of the resister is 86+4=90um<100um.  
 
2. Also, this design has passed the LASIDRC check. ( Wg=13.87um>9um, Ws=4um>3um). 
 
3. Define SheetResistance R(square)=2.5k Ohm. As shown above, the total resistance of this 
resistor is R=250004Ohm=250k Ohm. 
 

 
 
 



 

 
 

 
 

 
Ans:  
Built-in Potential:  
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Junction capacitance: 
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